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B5. 
 
Your CEO has asked you to calculate the energy use of your ICT estate and to assist the rest 
of the organisation to calculate their Green House Gas (GHG) emissions. 
 

a) Explain what steps you will take to calculate the total energy consumption of the 
ICT estate in terms of user devices, networking and the data centre servers? 

(15 marks) 
 

b) Describe the three GHG emission scopes and discuss what standards, tools and 
software the organisation could adopt to calculate the organisation’s GHG 
emissions. 

(10 marks) 
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Section A 
Answer Section A questions in Answer Book A 

 
 
A1. 

 
a) Discuss what Smart Grid and Smart Meters are, and how they are helping end-

users and energy companies to improve the supply and use of electricity. 
(15 marks) 

 
b) Internet of Things (IoT) systems have a significant impact on the environment, both 

in terms of potential benefits and challenges.  
 

Define IoT in the context of the environment and discuss two environmental 
benefits and two environmental challenges of using IoT. 

(10 marks) 
 
 

A2. 
 

a) The quality of data gathered using remote sensing depends on the issue of 
resolution. Explain what is meant by resolution in this context and describe four 
examples of resolution. 

(15 marks) 
 

b) Discuss how remote sensing can help organisations and scientists to monitor 
global sea surface temperatures. In your answer, outline the technologies that 
could be used and how the data is made available so that it can be used. 

(10 marks) 
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Section B 
Answer Section B questions in Answer Book B 

 
 

B3. 
 

a) Discuss two environmental impacts that arise from the manufacture and use of 
ICT. 

(10 marks) 
 

b) You work in an organisation that has a large amount of redundant IT equipment. 
Your sustainability and environmental manager has asked you to advise what 
steps can be taken to deal with this equipment. 

 
Discuss the actions that you can adopt to deal with the items in a sustainable and 
environmentally friendly manner. 

(15 marks) 
 
 

B4. 
 
The EU, USA and UK have recently implemented legislation that requires the collection of 
data centre environmental data which needs to be publicly reported. 
 

a)  
i. Discuss why the introduction of this legislation is important. 

(6 marks) 
 

ii. List three items of legislation that support the reporting requirement in the 
EU, USA or UK. This can be three items from one of those regions, or 
items from more than one region. 

(6 marks) 
 

b) Discuss examples of reporting requirements for each of the following areas for a 
Data Centre. 
 

i. Energy consumption and sources. 
(5 marks) 

ii. Water. 
(4 marks) 

iii. Waste Heat. 
(4 marks) 

 
 
 
 
 
 
 
 
 
 
 
 

[Turn Over] 



 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 8.268 x 11.693 inches / 210.0 x 297.0 mm
     Action: Make all pages the same size
     Scale: Scale width and height equally
     Rotate: Clockwise if needed
      

        
     D:20240813112934
      

        
     AllSame
     1
            
       D:20170516170507
       841.8898
       a4
       Blank
       595.2756
          

     Tall
     0
     0
     1
     747
     276
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     Uniform
            
                
         AllDoc
              

       PDDoc
          

      

        
     QITE_CMDLINE1
     Quite Hot Imposing
     Quite Hot Imposing
     1
      

        
     4
     3
     4
      

   1
  

    
   HistoryItem_V1
   Creep
        
     Shift: creep each group of 948328779 pages by from 0.00 to 0.00 points
     Normalise (advanced option): 'original'
     Keep bleed margin: yes
      

        
     D:20240813112934
      

        
     -4
     0
     1
     0
     No
     637
     232
     QI2.9[QI 2.9/QHI 1.1]
     Creep
     Up
     0.3402
     0.0000
     0.0000
     Top
      

        
     QITE_CMDLINE1
     Quite Hot Imposing
     Quite Hot Imposing
     1
      

        
     4
     3
     4
      

   1
  

    
   HistoryItem_V1
   SimpleBooklet
        
     Order: single binding (saddle stitch)
     Sheet size: 16.535 x 11.693 inches / 420.0 x 297.0 mm
     Front and back: normal
     Align: centre each page in its half of sheet
      

        
     D:20240813112934
      

        
     0
     CentrePages
     Inline
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     0
     0.0000
     0
     0
            
       D:20130208105309
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     762
     345
     0
     Custom
     1
      

        
     QITE_CMDLINE1
     Quite Hot Imposing
     Quite Hot Imposing
     1
      

   1
  

 HistoryList_V1
 qi2base



